
UE210−7N

UE210−1N_1

log ∆L  luminance difference
threshold Lg=630cd/m2
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x=logL

04 0,1s A 630cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=143.7
A2=135.3
A3=0.8=t
A6=15550.0
A7=461.6
∆=0.518

UE210−2N_1

log ∆L  luminance difference
threshold Lg=630cd/m2
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x=logL

02 0,1s Y 630cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=136.5
A2=121.5
A3=0.8=t
A6=13270.0
A7=403.3
∆=0.813

UE210−3N_1

log ∆L  luminance difference
threshold Lg=630cd/m2
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x=logL

02 0,1s B 630cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=108.6
A2=114.8
A3=0.8=t
A6=9971.0
A7=375.7
∆=0.008

UE210−4N_1

log ∆L  luminance difference
threshold Lg=630cd/m2
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x=logL

02 0,1s R 630cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=105.9
A2=57.16
A3=0.8=t
A6=4841.0
A7=157.2
∆=0.074

UE210−5N_1

log ∆L  luminance difference
threshold Lg=630cd/m2
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x=logL

AD 0,1s G 630cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=64.96
A2=87.19
A3=0.8=t
A6=4531.0
A7=266.4
∆=0.016

UE210−6N_1

log ∆L  luminance difference
threshold Lg=63cd/m2
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x=logL

04 0,1s A 63cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=115.8
A2=22.29
A3=0.8=t
A6=2065.0
A7=48.44
∆=1.325

UE210−7N_1

log ∆L  luminance difference
threshold Lg=63cd/m2
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x=logL

02 0,1s Y 63cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=109.8
A2=21.21
A3=0.8=t
A6=1864.0
A7=45.53
∆=2.71

UE210−8N_1

log ∆L  luminance difference
threshold Lg=63cd/m2
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x=logL

02 0,1s B 63cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=48.76
A2=10.75
A3=0.8=t
A6=419.5
A7=19.46
∆=0.049

UE211−1N_1

log ∆L  luminance difference
threshold Lg=63cd/m2
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x=logL

02 0,1s R 63cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=62.96
A2=9.37
A3=0.8=t
A6=472.4
A7=16.41
∆=0.255

UE211−2N_1

log ∆L  luminance difference
threshold Lg=63cd/m2
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x=logL

AD 0,1s G 63cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=77.73
A2=18.2
A3=0.8=t
A6=1133.0
A7=37.63
∆=0.116

UE211−3N_1

log ∆L  luminance difference
threshold Lg=6,3cd/m2
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x=logL

04 0,1s A 6,3cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=81.89
A2=5.59
A3=0.8=t
A6=366.6
A7=8.6
∆=7.289

UE211−4N_1

log ∆L  luminance difference
threshold Lg=6,3cd/m2
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x=logL

02 0,1s Y 6,3cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=67.98
A2=4.49
A3=0.8=t
A6=244.5
A7=6.54
∆=2.677

UE211−5N_1

log ∆L  luminance difference
threshold Lg=6,3cd/m2
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x=logL

02 0,1s B 6,3cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=46.24
A2=2.45
A3=0.8=t
A6=90.66
A7=3.06
∆=0.556

UE211−6N_1

log ∆L  luminance difference
threshold Lg=6,3cd/m2
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x=logL

02 0,1s R 6,3cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=70.62
A2=4.49
A3=0.8=t
A6=253.9
A7=6.54
∆=6.4

UE211−7N_1

log ∆L  luminance difference
threshold Lg=6,3cd/m2
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x=logL

AD 0,1s G 6,3cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=61.44
A2=3.73
A3=0.8=t
A6=183.7
A7=5.19
∆=1.703

UE211−8N_1

log ∆L  luminance difference
threshold Lg=63cd/m2
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x=logL

04 0,1s A&G 63cd/m2; hyp2
∆L = A1·A2·A3·Lt / (Lt+A2)2

A1=115.8
A2=22.29
A3=0.8=t
A6=2065.0
A7=48.44
∆=1.325

A1=77.73
A2=18.2
A3=0.8=t
A6=1133.0
A7=37.63
∆=0.116


